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A HEOots

33 o - ots K&
SRl Od - JIR0l E=E Alel = (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 Ar=EHI 1,900 1,900 0
OLEL Hdlst 29 420,000 420
OZAt=g 370,000 ~4 & 1,480
301 EtE NS 800 400 400
11 #AIAHIXIE S 800 400 400
OLEX Hdlist 23 200,000 *43] 800
et Al =4 2,800 2,800 0
201 2= 1,900 1,900
01 At2t2ltl 1,000 1,000
OU4alstEAl 222 S MH
500,000& 22 1,000
03 A= SHI 900 900 0
ONEZSEAEE MEHE J22e /3
= 900,000 %12 900
301 LEtE NS 900 900
11 AALRHIXIRS 900 900
OWHEZISIZAl HAF 2E S
900,000 *12] 900
SIREIIESIAE 4T 82 X 4,000 5,300 21,300
Jl 2,000
Al 2,000
307 el2tol & 4,000 5,300 /1,300
) 2,000
Al 2,000
11 AMISXAIEEX 4,000 5,300 21,300
Ot RIESIAE 241 4828 K&
4,000,000 4,000
Jl 2,000
Al 2,000
SIRIIIESXIAIL O0ISSAHIA X~ 3,059 8,200 A5,141
Jl 2,141
Al 918
307 elztol & 3,059 8,200 A5,141
) 2,14
Al 918
1 AMISXAIEEXS 3,059 8,200 A5, 141
OetRZIIE=AAIE OI0I=SAHIA X2
3,059,000& 3,059
Jl 2.4
Al 918
SRS XY 243t 8,000 8,000 0
301 EtE NS 8,000 8,000
02 A2 EH LGS (FHAAHS, NLWE) 8,000 8,000




=M OIE0IS I
33 o - ots K&
SRl Od - JIR0l E=E Alel = (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OBISDILE 43E N(LYEXES)
100,000 *40 4,000
O8RS EstAtg 23 (WIHHEHI)
100,0002 40 4,000
MoE HR20tE K& 3,072,375 2,660,574 411,801
Jl 2,457,900
Al 614,475
301 LEIE NS 3,072,375 2,660,574 411,801
Il 2,457,900
Al 614,475
01 AR HSHS(RNEERTHE) 3,072,375 2,660,574 411,801
OtFRIHE A SFHl S N3 A
3,072,375,000& 3,072,375
) 2,457,900
Al 614,475
IR EHAaEA 2SI 141,280 135,036 6,244
Jl 70,640
Al 70,640
307 lztol & 141,280 135,036 6,244
Jl 70,640
Al 70,640
10 Al SXAIEEHE2EHI 22X 141,280 136,036 6,244
OlE=2agL SN
141,280,000& 141,280
) 70,640
Al 70,640
IHE =S Ikt WEX= 8,100 0 8,100
Jl 5,670
Al 2,430
307 212+01& 8,100 0 8,100
Il 5,670
Al 2,430
11 AMEISXAEEES 8,100 0 8,100
OE== DR REXE
8,100,000& 8,100
Il 5,670
Al 2,430
=S Lok Izzs 2208 5,768 0 5,768
Il 4,037
Al 1,731
307 212+01& 5,768 0 5,768
7l 4,037
Al 1,731
11 AMEISXAEEES 5,768 0 5,768




fA: odots
33 o - ots K&
oelr e - OIS0l eS8 Atel =8 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OJtd=4 LAt X=2ls 2208
5,768,000& 5,768
Jl 4,037
Al 1,731
RAFoI=A N2 1,708,000 2,016,000 308,000
= 1,281,000
Al 213,500
- 213,500
301 LEtE N = 1,708,000 2,016,000 /308,000
= 1,281,000
Al 213,500
T 213,500
01 A2 HSFS(RNEERTHE) 1,708,000 2,016,000 308,000
oxggoled X 2,000,000 x84 1,708,000
= 1,281,000
Al 213,500
- 213,500
Sotdeis N2 484,000 680,000 196,000
301 EtE N = 484,000 680,000 196,000
03 A2 E A0 2 (XL THH) 484,000 680,000 196,000
O&t &S N& 500,000 «068 484,000
OL0IES A& 3,107,275 2,090,595 1,016,680
= 2,175,093
Al 466,091
- 466,091
308 AXIHMSOIA 3,107,275 2,090,5% 1,016,680
= 2,175,093
Al 466,091
T 466,091
11 SIS0t oA AS A 3,107,275 2,090,59% 1,016,680
OotoI=sXE 3,107,275,000& 3,107,275
= 2,175,093
Al 466,091
- 466,091
HAaU RIS XIRAMS 27,275 43,445 216,170
Jl 21,820
Al 5,455
301 EtE N = 27,275 43,445 216,170
) 21,820
Al 5,455
01 Al EE A S (2 RNEXMA) 27,275 43,445 216,170
OFE2HESR2 THEXS 27,275,000 27,275
Il 21,820
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fA: odots
T 04 - 0ls KR
el Ots=A S8 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 1,299,697 1,498,446 A198,749
Al 888,260
- 411,437
01 Al EE A2 (2RNEXMR) 1,299,697 1,498,446 A198,749
OMASE Ots=4 X 1,299,697
- ggasts 24 1,028,593,000& 1,028,593
Al 617,156
- 411,437
- E2ESRY 24 271,104,000 271,104
Al 271,104
ASE0tsdE 29 & K& 28,500 28,500 0
307 212+01& 28,500 28,500
11 AMRISXAEEES 28,500 28,500
OXIS0tsHIE! S8 Hited|
300,000& *179H 2 5,100
OXIH0tsSHIE SAXHAIEE, MEZXIA
ySES) Falal 50,0002 x39 + 122 23,400
NSOtSHE SAHA |9& 5,000 5,000 0
201 fer= 3| 4,600 4,600
03 &A= 4,600 4,600
OXIS0tsHE SAHL A0S
4,600,000& 12 4,600
301 LEIE NS 400 400
11 dALEEIXIE S 400 400
OXSOtSHE SAHAL |I3&
400,000 12 400
ASotsHE =8 stote 5,000 5,000 0
201 er23| 5,000 5,000
03 A= I 5,000 5,000
OXg0tsHE 0=8 etite
5,000,000& 12 5,000
AgotsdE 24l X 282,144 1,321,680 1,039,536
= 141,072
Al 70,536
- 70,536
307 @I2t01 & 282,144 1,321,680 1,039,536
= 141,072
Al 70,536
- 70,536
10 AlISXAEEHE 22X 282,144 1,321,680 1,039,536
OXSotsHIE JI222dl X
271,344,000 271,344
= 135,672
Al 67,836




fA: odots
Za: o8- O1s N
g9l ois=x B (e191:82)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 67,8%
OXIHOSHIE ZIt2H| XA (CHIE 2
g gel) 10,800,000 10,800
= 5,400
Al 2,700
- 2,700
KSotsdE 2l2id] X 1,296,144 1,296,144
= 648,072
Al 324,036
- 324,036
307 @12to| & 1,296,144 1,296,144
= 648,072
Al 324,036
- 324,036
11 MEISXAEE 1,296,144 1,296,144
OXIotsHlE 1Ad] X1
1,296, 144,000 1,296,144
= 648,072
Al 324,036
- 324,036
S+=8E NY0tsdH XN& 60,532 60,532
= 30,266
Al 15,133
- 16,133
307 elztol & 60,532 60,532
= 30,266
Al 15,133
- 15,133
10 Al SXAEEHE2EHI 22X 60,532 60,532
OS42x8 XHOISHEH £} X2
60,532,000& 60,532
= 30,266
Al 15,133
- 15,133
EQEY NS0ISHE X2 18,148 18,148
= 9,074
Al 4,537
- 4,537
307 elztol & 18,148 18,148
= 9,074
Al 4,537
- 4,537
10 Al2ISTIAEEE2HIEX 18,148 18,148




A Hdotst
Za: o8- O1s N
o9 ol==xl =X (CHol: &S1)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OER2Z NIotsdEH =t XA
18,148,000 18,148
= 9,074
Al 4,537
- 4,537
OtsSXI A IHAXA 251,570 240,210 11,360
= 119,935
Al 59,968
- 71,667
101 eI24t| 251,570 240,210 11,360
= 119,935
Al 59,968
- 71,667
M II2tH22SE* 251,570 240,210 11,360
OO0tS SR WAHIFAKXIA (13Y)
239,870,000& 239,870
= 119,935
Al 59,968
- 59,967
OO0tS=E XA SXIEQE
300,000& *13H 3,900
O0ts=X WAt SEAMHS
600,0002* 135 7,800
CHatH =3 At el24d] 357,420 125,468 231,952
= 178,710
Al 89,355
- 89,355
307 QI2Hol M 357,420 125,468 231,952
= 178,710
Al 89,355
- 89,355
05 QIZtRES 357,420 125,468 231,952
OCretH Ss4HIH 2124d|
357,420,000 357,420
= 178,710
Al 89,355
- 89,355
CHetH =2 At QI4H] AIBIFIKIRA 60,630 0 60,630
Al 30,615
- 30,015
307 QI2Hol ™ 60,630 0 60,630
Al 30,615
- 30,015
05 QIZtRIErZ 60,630 0 60,630




2A:
PSR
ool

04/\4 .
=

FI'Q

Haotsnt
Ot
=

= |

=)
=X
o

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OCHetH S At 21Adl =0t X
60,630,000 60,630
Al 30,615
- 30,015
CHat dIE X2 60,000 18,000 42,000
= 30,000
Al 15,000
- 15,000
307 QI2tol ™ 60,000 18,000 42,000
= 30,000
Al 15,000
- 15,000
05 QIZtRIES 60,000 18,000 42,000
OU&EH =s4dHe 2381 XI&
60,000,000 60,000
= 30,000
Al 15,000
- 15,000
CietH E=3HH 29 9,600 0 9,600
307 QI2Hol M 9,600 9,600
05 QIZIRIEr 9,600 9,600
OUstHEsHE 28l XIJ (XHA)
400,000 x 12 x20H 2 9,600
CHETH S84 dX(8328 =83t 70,000 0 70,000
= 50,000
Al 10,000
- 10,000
401 A& B2 20| 50,000 0 50,000
= 30,000
Al 10,000
- 10,000
01 AlEHI 50,000 0 50,000
OAl& b 50,000,000 50,000
= 30,000
Al 10,000
- 10,000
405 Xt S| 20,000 0 20,000
= 20,000
01 ML =SEFHSHI 20,000 0 20,000
OJI R HYI 20,000,000& 20,000
= 20,000
CHEN SS4dE dXI(8YsS S83) 70,000 0 70,000
= 50,000




fA: odots
RZH 04/\4 L OlE XY
=91 Ok==4 S8 (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 10,000
T 10,000
401 AlEHIZL S0 50,000 0 50,000
= 30,000
Al 10,000
- 10,000
01 Al&H| 50,000 0 50,000
OAl&H| 50,000,000 50,000
= 30,000
Al 10,000
- 10,000
405 KHaHE SH 20,000 0 20,000
= 20,000
01 ML ESFSHI 20,000 0 20,000
OJIAHHHI 20,000,000 20,000
= 20,000
0i2l0l =01 2= 3,000 3,000
401 Al HIY S CHYI 3,000 3,000
01 A28l 3,000 3,000
OO0l =018 2+ S
1,500,000 *20H 2 3,000
Ols& St Al ZEAY 5,000 5,000 0
201 2= 5,000 5,000
2 S52g4l 5,000 5,000
OXgEFE23 Ay 5,000,000 5,000
RESOIS HEFH 1,743,994 795,324 948,670
= 957,343
Jl 108,737
Al 626,264
- 51,650
Ols=XAIE K& 3,000 3,000
301 LEetE2 N = 3,000 3,000
02 NBI2HHSFS(HAAS, XNLHE) 3,000 3,000
OOlSsEEAIE Ol BEE=
1,500,000 22 3,000
IHEREols X3 (E2) 36,000 0 36,000
= 25,200
Al 10,800
301 EtE NS 36,000 0 36,000
= 25,200
Al 10,800
01 Al EE A S (2 REXMR) 36,000 0 36,000




of
i’
oF
uJ

0
Ot

of KJ

-

KIO

Hlw

3,439

3,439
3,439
700

700

700
151,200
151,200
151,200
6,000

MEE
Ofl &k2h

4,200
4,200
4,200

Ofl &F2H

36,000

25,200

i

10,800
4,200
4,200
4,200
4,200
3,439
2,407

Al

1,032
3,439
2,407
1,032
3,439
3,439
2,407
1,032
700

490

210

700

490

210

700

700

490

210
151,200
105,840
45,360
151,200
105,840
45,360
151,200
151,200
105,840
45,360
6,000
4,200

J|
Al
Il
Al
Il
Al
J|
Al
Il
Al
Il
Al
Il
Al
J|
Al
Il
Al

fir

- ESS

- SRA(E) - HIRAY

S - B

1,000,000 «3E * 1204 &

(

4 A

=)

[=}

(OFI BN

100,000& ~42&H

2|

=

OJHE 2 E 0t

02 At

Ors=X X

@

HE X

3

o0
ol

(

OtSIHEEXIE

3

o0

3,439,000
700,000

151,200,000&

)

=

=]

A2t 2K

=

[e] kel
=Ho A

4 (

=

e

=Dl

3

o
o

o
=

6,000

1,800
6,000

Al




SN CiE0LS Dt
M. o4 - 0t K&
el RES0ls HEsd (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 4,200
Al 1,800
01 Al B& X Z2(2REETA) 6,000 0 6,000
OYLHAOIE 25| X2
1,000,000 *63| 6,000
= 4,200
Al 1,800
LAIIEREOls AelXlzg K& 4,270 0 4,270
= 2,989
Al 1,281
301 LetENZ 4,270 0 4,270
= 2,989
Al 1,281
01 Al B&X2HZ2(2REETA) 4,270 0 4,270
OYLINHISOLS MaIXIE X
118,600 x 1201 & +3Y 4,270
= 2,989
Al 1,281
Ots 2 X2 A= 340,000 408,624 A68,624
= 238,000
Al 102,000
301 LetENZ 340,000 408,624 A\68,624
= 233,000
Al 102,000
01 Al B&X2HZ2(2REETA) 340,000 408,624 A68,624
OOSLE TN X
340,000,000& 340,000
= 238,000
Al 102,000
MAHZ0(0LSAIA) 140,000 145,000 A5,000
= 126,000
Al 14,000
307 2I2+0l ™ 140,000 145,000 A5,000
= 126,000
Al 14,000
11 Al SXAMEE X 140,000 145,000 5,000
OMAZO (OIS AIE) 140,000,000& 140,000
= 126,000
Al 14,000
2S5E320ts HE==E XA 336,000 183,600 152,400
= 268,800
Al 67,200
301 LB F 336,000 183,600 152,400
= 268,800




fA: odots
33 o - ots K&
Hel: RES0s HAEsY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 67,200
01 Al EE A S (2 RDEEMA) 336,000 183,600 152,400
OEEER0IE N2+g
336,000,000 336,000
= 268,800
Al 67,200
AR SotS AERIE 10,500 10,800 A300
= 7,350
Al 3,180
301 EtE N = 10,500 10,800 A300
= 7,350
Al 3,150
01 Al EE A S (2 RDEXA) 10,500 10,800 A300
OZAH s AHEA 10,500,000& 10,500
= 7,350
Al 3,150
230tsXE 28,500 8,000 20,500
= 22,800
Al 2,850
- 2,850
101 21AH| 13,500 0 13,500
= 10,800
Al 1,350
- 1,350
04 JIZtN22 XS 2+ 13,500 0 13,500
OOlEEEHSRA LI (JIZR22X)
=0 13,500,000& 13,500
= 10,800
Al 1,350
- 1,350
201 fer= 3| 7,500 4,000 3,500
= 6,000
Al 750
- 750
01 AtR2telHl 7,500 4,000 3,500
230ts JI=222H4l 7,500,000& 7,500
= 6,000
Al 750
- 750
301 LEtE N = 7,500 4,000 3,500
= 6,000
Al 750
T 750




fA: odots
33 o - ots K&
Hel: RES0s HAEsY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 A2 HSHS(RRNEERTH) 7,500 4,000 3,500
230ts AMHIA2E 7,500,000& 7,500
= 6,000
Al 750
- 750
LES0ts 188 24 616,685 0 616,685
= 246,674
Al 370,011
307 el2to| & 616,685 0 616,685
= 246,674
Al 370,011
10 AlISXAZEE 22X 616,685 0 616,685
OREslls 188 =24
616,685,000& 616,685
= 246,674
Al 370,011
SSHEIE SAHA MM K& 14,400 12,000 2,400
307 glztol & 14,400 12,000 2,400
11 AMEISXAEEXS 14,400 12,000 2,400
OSSUEIIE SALAL MHEH|
60,0003 «20H * 12& 14,400
OlsSHHEAL XI2 27,200 20,100 7,100
201 fer=3| 25,200 3,300 21,900
01 AtR2tc|HI 23,400 1,500 21,900
OOttt = <let 2= M=
7502 *2,000H 1,500
Ootsstidg=s2A M gAYl A=
30,0003 3652 x2H 21,900
2 s5=34l 1,800 1,800 0
OgeE sUda| As=
1,800,000& 1,800
203 =4l 1,000 1,000
03 A=A 2= 1,000 1,000
Ootssih g & 25 243t
1,000,000 1,000
307 glztol & 1,000 1,000
01 22X+ &H| 1,000 1,000
Ootsslh 2=dl X3 1,000,000 1,000
HEO0ISE S 18,900 0 18,900
= 13,230
Al 5,670
301 EetE NS 18,900 0 18,900
= 13,230
Al 5,670




fA: odots
33 o - ots K&
Hel: RES0s HAEsY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 A2 HSHS(RRNEERTH) 18,900 0 18,900
OHZ0tSESHI(RDI0tS HEESAHH) X
& 1,000,000& *18.93] 18,900
= 13,230
Al 5,670
orsE37adl X2 3,000 0 3,000
= 2,100
Al 900
301 22N = 3,000 0 3,000
= 2,100
Al 900
01 A2 HSHS(RNEERTHE) 3,000 0 3,000
OotsE=-24dl A&
1,000,000 #32] 3,000
= 2,100
Al 900
ESAMHIA M3 44,127,521 42,315,501 1,812,020
= 25,667,696
Al 14,846,620
- 3,613,205
SHitE =2 EFsAMHIA WS 44,057,521 42,315,501 1,742,020
= 25,617,696
Al 14,836,620
- 3,603,205
2EIAE 2d3t 11,300 11,300
201 ger=3| 6,200 6,200 0
01 AtR2te|H] 1,600 1,200 400
OE=SAE X, 82 sS4l
8,000 x3& 25! 600
OESAIH s22(8+2 S) MA
100,000& %105 1,000
03 A= SHI 4,600 5,000 400
OFEsuAA & 28 AX WS
2,300,000& *23] 4,600
202 04| 3,000 3,000
01 =LHOLI 3,000 3,000
OE=FAE X E& 0y
20,0003 38 50 3,000
203 HR=H] 500 500
03 A=A H A 500 500
OESAY 2435 =8 500,000 500
301 EtE N = 1,600 1,600
11 #AIAMHIXIZ S 1,600 1,600




2A:

Haotsnt

M. BEAMHIA HS
o9l BRI =2 BRAMHIA HB (crol: m2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OAYRSEA 2]
4,000 x200H 23| 1,600
EsAd 2SR 310,500 308,100 2,400
307 212+01™ 310,500 308,100 2,400
10 Al S XA EEHE2IHIE X 310,500 308,100 2,400
Ooogloly &4 - Hetdl XA
97,100,000& 97,100
ONeI0IE AL SAMAEl XIJ
19,000,000 19,000
ONEI0IE YYWAI nESE X
20,0002 660 « 122 158,400
Ooogloly etdZHaHl XI&
10,000 *3,600H 36,000
SsudA o1AHd| K& 6,582,695 6,582,695 0
= 3,949,615
Al 1,843,155
- 789,925
307 2I2+01™ 6,582,695 6,582,695 0
= 3,949,615
Al 1,843,155
- 789,925
10 Al S XA EEHE2IHIE X 6,582,695 6,582,695 0
OB=su&A olAdl XA
6,582,695,000& 6,582,695
= 3,949,615
Al 1,843,155
- 789,925
BEUNI MRS X2 (L AXIAH]) 1,527,660 1,527,660 0
= 916,5%
Al 427,745
- 183,319
307 212+01™ 1,527,660 1,527,660 0
= 916,5%
Al 427,745
- 183,319
10 Al S XA LB E2IHIE X 1,527,660 0 1,527,660
SUMANIR SR Mea Ta) U DA
ZRAY XIS 1,527,660,0002! 1,527,660
= 916,5%
Al 427,745
- 183,319
HRNAI HRME N (EXZWAF 2124H]) 2,768,245 2,768,245 0
= 1,660,947
Al 775,108
- 332,190




2A:
X XH -
o e

=aak

Haotsnt
ESMHHIA M2
e =2 EsAA WS
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SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
307 212+01 A 2,768,245 2,768,245 0
= 1,660,947
Al 775,108
- 332,190
10 IS SXAIEHE2ZHIEX 2,768,245 2,768,245 0
OE=x - AEME WAL Q12|
2,768,245,000& 2,768,245
= 1,660,947
Al 775,108
- 332,190
oelold 29 X 74,274 78,689 A4,415
= 44,564
Al 20,797
- 8,913
307 QIZt01A 74,274 78,689 A4,415
= 44,564
Al 20,797
- 8,913
10 Al S XA EHE2IHIE X 74,274 78,689 AN4,415
(@IMPN ImEsts] 69,474,000& 69,474
= 41,684
Al 19,453
- 8,337
OXts2d| 4,800,000& 4,800
= 2,880
Al 1,344
- 576
FdR0tIE=E= XA 16,089,841 17,368,267 A1,278,426
= 12,067,381
Al 2,815,722
- 1,206,738
307 212+01™ 12,000 12,000 0
= 9,000
Al 2,100
- 900
11 AR SXAMEER 12,000 12,000 0
OR0lstt] tHafots OFUHHEES =
12,000,000& 12,000
= 9,000
Al 2,100
- 900
308 AHXIHMSOI & 16,077,841 17,356,267 A1,278,426
= 12,058,381




2A:
X XH -
o e

=aak

Haotsnt
ESMHHIA M2
St =2 ESAMHIA WS

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 2,813,622
T 1,205,838
11 SIS0t oA AS A 16,077,841 17,356,267 1,278,426
OEROIEE= 16,077,841,000& 16,077,841
= 12,058,381
Al 2,813,622
- 1,205,838
BI3-5Ml el td EF=2 X 7,298,832 7,298,832 0
Al 7,298,832
307 @12t0| & 1,698,832 1,698,832 0
Al 1,698,832
N EEEEETEES 1,098,832 1,098,832 0
OBIZ5H w2 BUE 22|
1,008,832,000& 1,008,832
Al 1,098,832
N EP=T-ES 600,000 600,000 0
OBIF5Al RIS YDA HRIHat]
600,000,000 600,000
Al 600,000
308 AXIHSOIA 5,600,000 5,600,000 0
Al 5,600,000
11 SI[2S0 e YA AS A 5,600,000 5,600,000 0
OBI-5Al Feltd 2F]2
5,600,000,000& 5,600,000
Al 5,600,000
IHEgE=4A 1,100,448 3,566,667 A2,466,219
= 825,336
Al 192,578
- 82,534
301 EetE NS 1,100,448 3,566,667 A2,466,219
= 825,336
Al 192,578
- 82,534
01 ARRI2HHSFS(RRNERTH) 1,100,448 3,566,667 A2,466,219
ongegss4 1,100,448,000 1,100,448
= 825,336
Al 192,578
- 82,534
AZNEFAEIA XIS 190,548 190,548 0
= 95,274
Al 47,637
- 47,637
307 elzto| & 183,548 183,548 0




FA: H4ots
M BFMHIA MS
o9l BRI =2 BRAMHIA HB (crol: m2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 91,774
Al 45,887
- 45,887
10 Al SXAEEE 22X 183,548 183,548 0
OAIZHHI 25 29 183,548,000 183,548
= 91,774
Al 45,887
- 45,887
308 AtXIEHMSOIE 7,000 7,000 0
= 3,500
Al 1,750
- 1,750
1 SIS0t AS A 7,000 7,000 0
OAIZHN 252 7,000,000 7,000
= 3,500
Al 1,750
- 1,780
SFLRZLIHEH 29 6,500 7,553 1,083
= 3,250
Al 2,275
- 975
307 elztol & 6,500 7,553 A1,053
= 3,250
Al 2,275
- 975
11 AMEISXAEEE 6,500 7,553 1,083
OFRI2LHEY 28 K&
6,500,000& 6,500
= 3,250
Al 2,275
- 975
2220 (Hot+E) XA 8,072,977 2,101,909 5,971,068
= 6,054,733
Al 1,412,771
- 605,473
301 LELE NS 8,072,977 2,101,909 5,971,068
= 6,054,733
Al 1,412,771
- 605,473
01 Al 2E AL S(SREXME) 8,072,977 2,101,909 5,971,068
O30 (g0t+g) X
8,072,977,000& 8,072,977
= 6,054,733




A HEOots
¥ EIMUHIA WS
oel: XE =28 ESsAHlA MS

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,412,771
T 605,473
ASIEXNLREE MISLQE 2e|(ME-0 40t 23,701 19,203 4,498
301 EtE N = 23,701 19,203 4,498
10 AMSRREENS 23,701 19,203 4,498
oss 750,000 2+ 122 18,000
Oul=t| 316,000& 2 632
OS] 2,600 2 *x222 x 122 1,373
OSAH| 7,000 2 *222 * 122 3,6%
MEISICS & SHB USRI SEHHIE) 70,000 0 70,000
= 50,000
Al 10,000
- 10,000
CHENESHE (BLRXR SEHHE) 70,000 0 70,000
= 50,000
Al 10,000
- 10,000
401 A2 HIRL R 0HHI 50,000 0 50,000
= 30,000
Al 10,000
- 10,000
01 A28l 50,000 0 50,000
O&Xtl 50,000,000 50,000
= 30,000
Al 10,000
- 10,000
405 AtatE=H 20,000 0 20,000
= 20,000
01 MMM ESFSHI 20,000 0 20,000
OIIXHHHI 20,000,000& 20,000
= 20,000
AY2LZHI(KEots) 167,702 167,268 434
= 52,807
Al 12,003
- 102,892
Jl23tl(oigotsm) 66,160 88,240 A22,080
Jl2dhl(oigotsm) 66,160 88,240 A22,080
201 er2 3| 20,680 20,200 480
01 AtR2telHl 19,680 19,200 480
ORM2EII12+EH]
40,0002 «20H 122 9,600
SEAIIZERd A
8,000& x20EH x54112& 9,600




fA: odots
M HYRAZH(HLotS1)
SRl J1=2ZHI(H oS (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OOtSEXRABRE) S|
8,000 x1&+541x 123 480
02 S3=gHl 1,000 1,000 0
OXZgH, SAD| S EHIsXl
200,000 %53 1,000
202 04| 41,280 63,840 N22,560
01 =UHoi bl 41,280 63,840 £22,560
OJ=ee 8 SFOY
20,0003 x20E *142] « 122 +60% 40,320
OOt =X WAHSRA) EF0|
20,0003+ 1H*43]x 123 960
203 =8| 4,200 4,200
M FAZHHIFII 4,200 4,200
ORMEZE =4 350,000& * 128 4,200
elHA2EH(0gotsn) 101,542 79,028 22,514
= 52,807
Al 12,003
- 36,732
QI HH|(OtSSRILA}) 47,542 47,128 414
= 14,407
Al 7,203
- 25,932
101 @12A4H| 41,618 39,740 1,878
= 13,071
Al 6,536
- 22,011
03 SR (RINAHA) 222+ 41,618 39,740 1,878
OO0IS=XWAHSRA) QI 41,618
-JlZ2s 24,132,000 24,132
= 12,066
Al 6,033
- 6.033
- J123(7l It R€3)
6,919,440% 6,920
- iEse 40,0003 * 122 480
- HZAHI 140,000~ 12& 1,680
- SE=Jtl 2,491,620 «80% 1,994
- AN2te|22+¢
20,8863 *10AI 2+ 123 2,507
- ORsSRIIE
13,9243 +BAI 217 1,894
- EIXEESs 2,011,000& 2,011
= 1,005
Al 503
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